SuMPO

EPD F4FINE

VERIFIED

BHES ¢ JR-AI-25381E
ho—L—¥—=T)o 58—

Colour Laser Printer

H L_L84300 DW for Europe

brother

at your side

SuMPO EPD SUMPOBRIESNILTOYS I

— A EE AT AT T IR EHEER A

(EPD) ERATRERAHET-14-8
KANDA SQUARE GATE

https://ecoleaf-label.jp

IS5 —T ##kX4#t / BROTHER INDUSTRIES, LTD.

HERAL
WRIBHLY

BE N RERE
L ES8) WL
JRRIE, BOE. FE. £/ -, R

KE0BEX, TETKk-
A5 HL-L8430CDW
-TUVHEPHR)
j]ﬁ_
-ENREEE : 31ppm (A4)
-ERARAEYIX A4

-JUY /BB EEIR
- BHR/EARLAN
“AKEE : 21.0 kg, S%fth 1 4.8 kg

gl!kl
dl

MARIZERMN BT T,
FEIWEDhEE
IIY-T#E#K/ASH

inml-ecoleaf-jimukyoku(at)brother.co.jp

ERES JR-AI-25381E
EAPCRES  PA-590000-Al-08
PCR% B A B S 3R [5581R])
NE]=! 202652 H6H

RALEEHE  20261827RH
REEA YATLERREEA R
RIEES JV-AI-25381E
RAEE#EIR 2031F1826H
PCRLE1-DEE
REBZE 2023 98 1H
ZER Ml Ex
(—BAEEAY AT T IR Z HEEERE)
E=HIRE
NEPIREEE /B BRI
ISO14025(ZHE>1=ARE & R UT —5 DIMIL LIAREE
ORER AR

AT LRI ER IR EBNORIEDS AR, YATLRAETREEED
ZEIERH,

https://global.brother/ja

E#HES ¢ JR-AI-25381E


https://global.brother/ja

SUMPO SuMPO EPD SUMPOBRIEIANIL O T s

E D _ —MBHEEAY AT H IR EHERE
-. .0 H4TINRIEEE (EPD) RGBT RERAHE-14-8

VERIFIED KANDA SQUARE GATE
EHES . JR-AI-25381E https://ecoleaf-label jp

PP % it

[ERITAERR | ELEERRE TR B 2 &éf s BEEEERBE
SURZEE - &5 kg-CO2eq 1.61E+02 147E+01 1.51E+01 5.36E+02 4.26E+01
7y d kg-SOzeq 4.56E-01 1.24E-01 9.61E-03 2.01E+00 2.92E-02
FEMERES - S5 kg-Sbeq 5.43E-02 4.12E-05 2.95E-08 3.56E-02 5.78E-06

F1IY1IWAIRY M) 3B E R

—REROERICEEYT 31EF

bs] =[] , oy EFH * il %
EAEERE | NEEE | HERE &;: BesEE
BARE—RER - IXRIF- (RPRE) MJ 3.73E+02 1.35E+02 2.88E-02 2.73E+03 1.28E+01
BAEABE—RER - IRIF-2BME (RPRy) M) 7.90E+00 8.06E-01 1.30E-04 1.76E+02 2.43E-03
JEBETRE—REIR - IrF— (NRPRp) MJ 2.70E+03 2.31E+02 1.70E+02 9.05E+03 6.87E+01
FEBETE—RER - IRILF-25#E (NRPRy) M) 5.49E+02 7.41E-01 3.27E-04 1.37E+03 4.21E-02

HERRICETSEMIER

ERARBORERE (YFU7)
TUv5 (EPAHR) | BEEMEAR 1 56, £EENRIEL 1 139,5001%, EIRAIE SR (JX9-Y) :ISO/IEC 19798
ENRIFBMEIFRE AR LA R, BALEIRLA-Z9-T05L4 : Ver3.0, ABRAEM Al

ZOMOFRIFRE IS H
FRROMTEEL ETEBRO M -RUBAFLIEFISO14001 BEZRTHICTTONTVET,

Hd B ([CEAd 34 RkE ERALEZRT-9DEZA
HE-ME (EBHS) B | |IDEAV34RUSUMPOBESAIL OS5 LB REEAV 165 EMALE

B 5.7E+00 kg
sus 20801 | kg
PIIZIL 32601 | kg
zZoftEE 9.2E-02 kg
F3AFYY 1.3E+01 kg

H52 12801 | kg -
- AR 4.7E+00 kg
EREBRER 8OE-01 | kg
Z0ft 1.0E+00 kg

OT-FHEEDHEE. PCRELUVEE - EERBESRBLTEIN,
OLLEIIDVTE, BE - EERBICRENEEZHEBLLESEICLIRHoNE A,
(BEJURL : https://ecoleaf-label.jp/regulation/)



